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Motivations

» Severe nonlinearities play sometimes an important role in
Macroeconomics.

» In particular occasionally binding constraints: irreversible
investment, borrowing constraint, ZLB.

» Usual local approximation techniques don’t work when there
are kinks.

» Deterministic, perfect forward, models can be solved with
much greater accuracy than stochastic ones.

» The extended path approach aims to keep the ability of
deterministic methods to provide accurate account of
nonlinearities.



Model to be solved

st = Q(st—1, ue) (1a)
F(ye: xe, st Ee [6241]) = 0 (1b)
G(yt, Xe11, X, 5¢) = 0 (1c)
& = H(ye, xe, st) (1d)

st is a ns X 1 vector of exogenous state variables, u; ~ BB(0,X,) is
a n, x 1 multivariate innovation, x; is a n, x 1 vector of endogenous
state variables, y; is a n, x 1 vector of non predetermined variables
and &; is a ng x 1 vector of auxiliary variables.



Solving perfect foresight models

» Perfect foresight models, after a shock economy returns
asymptotically to equilibirum.

» For a long enough simulation, one can consider that for all
practical purpose the system is back to equilibrium.

» This suggests to solve a two value boundary problem with
initial conditions for some variables (backward looking) and
terminal conditions for others (forward looking).

» |n practice, one can use a Newton method to the equations of
the model stacked over all periods of the simulation.

» The Jacobian matrix of the stacked system is very sparse and
this characteristic must be used to write a practical algorithm.



Extended path approach

» Already proposed by Fair and Taylor (1983).

» The extended path approach creates a stochastic simulation as
if only the shocks of the current period were random.

» Substituting (1a) in (1d), define:
Er = E(Vey Xty St—1, ur) = H(ye, xe, Q(s¢—1, Ut))
» The Euler equations (1b) can then be rewritten as:
F(ytaxhstaEf [6(Ve+15 Xe 41, St Ut+1)]) =0

» The Extended path algorithm consists in replacing the previous
Euler equations by:

F(yhXh Sty éb(yt-i-l)Xf-‘rlv Sty 0)) =0



Extended path algorithm

Algorithm 1 Extended path algorithm

. H <« Set the horizon of the perfect foresight (PF) model.
. (x*,y*) < Compute steady state of the model
(s0,x1) < Choose an initial condition for the state variables
.fort=1to T do
us <+ Draw random shocks for the current period
(¥t, Xt+1, St) < Solve a PF with y; 1 = y*
end for
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Extended path algorithm (time t nonlinear problem)

st = Q(st—1, ut)

0 = F(ye, xt, st, & (¥e41, Xe+1, 5¢, 0))
0 = G(yt, Xt+1, Xt, St)
sty1 = Q(st,0)

0 = F(ytt1, xt11, St+1, E(Ver2, Xe42, St41,0))

0 = G(yt41, Xt42, Xt+1, St+1)

sth = Q(St4h—1,0)
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F(Ywh, Xt4hs St+hs éb(,Vt+h+1 s Xt4+h+1s St+hs 0))

o
Il

G(Yeth» Xe+h+1> Xe-+hs St+h)

st+H = Q(st+H—1,0)
0 = F(YeiHs Xet Ho StrHs 7 XerHi1s St 0))

0 = G(Yt1H» XttH+1s Xe Ho St+H)



Extended path algorithm (discussion)

v

This approach takes full account of the deterministic non
linearities...

... But neglects the Jensen inequality by setting future
innovations to zero (the expectation).

We do not solve the rational expectation model! We solve a
model where the agents believe that the economy will not be
perturbed in the future. They observe new realizations of the
innovations at each date but do not update this belief...

Uncertainty about the future does not matter here.

EP > First order perturbation (certainty equivalence)



Stochastic extended path

» The strong assumption about future uncertainty can be
relaxed by approximating the expected terms in the Euler
equations (1b)

» We assume that, at time t, agents perceive uncertainty about
realizations of w1, ..., us1k but not about the realizations of
ug4r for all 7 > k (which, again, are set to zero)

» Under this assumption, the expectations are approximated
using numerical integration.



Gaussian quadrature (univariate)

» Let X be a Gaussian random variable with mean zero and
variance o2 > 0, and suppose that we need to evaluate
E[p(X)], where ¢ is a continuous function.

» By definition we have:

x2

Efp(X)] = Je 27 dx

\/ﬂ

» It can be shown that this integral can be approximated by a
finite sum using the following result:

oo 2 a nl\/n (20
/ @(Z)e*z dx = Zw,-cp(z,-)+ ;{ (2n§|£)
> i=1 '

where z; (i =1,...,n) are the roots of an order n Hermite
polynomial, and the weights w; are positive and summing up
to one (the error term is zero iff ¢ is a polynomial of order at
most 2n — 1). — x; = Zi/o/2




Gaussian quadrature (multivariate)

v

Let X be a multivariate Gaussian random variable with mean
zero and unit variance, and suppose that we need to evaluate

P

E[p(X)] = (2r) % /R plx)e Hxax

Let {(wj, z)}"_; be the weights and nodes of an order n
univariate Gaussian quadrature.
This integral can be approximated using a tensor grid:

/ ( ) -7 dz ~ Z Wiy - - Wi, @ (Zi17""zip)
RpP i1y..nip=1

Curse of dimensionality: The number of terms in the sum
grows exponentially with the number of shocks.



Unscented transform

» Let X be a p x 1 multivariate random variable with mean zero
and variance X . We need to compute moments of Y = ¢(X).

> Let /), = {w,-,x,-}?ﬁ]Ll be a set of deterministic weights and

points:
x = 0 wo = F,%Q
X = ( (p+’{)zx),’ wi = m, fori=1,...,p
X = - ( (p+ ,@)Zx)i_p wi = m, for i=p+1,...,2p

where & is a real positive scaling parameter.

» |t can be shown that the weights are positive and summing-up
to one and that the first and second order “sample” moments
of ., are matching those of X.

» Compute the moments of Y by applying the mapping ¢ to .7}

» Exact mean and variance of Y for a second order Taylor
approximation of .



Forward histories (one shock, three nodes, order two SEP)
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— The tree of histories grows exponentially!



Fishbone integration

» The curse of dimensionality can be overcome by pruning the
tree of forward histories.

» This can be done by considering that innovations, say, at time
t+1 and t + 2 are unrelated variables (even if they share the
same name).

» If we have n, innovations and if agents perceive uncertainty
for the next k following periods, we consider an integration
problem involving n, x k unrelated variables.

» We use a two points Cubature rule to compute the integral
(unscented transform with k = 0) — The complexity of the
integration problem grows linearly with n, or k



Fishbone history (one shock, two nodes, order three SEP)

Upy1 = U Uryo = U
Ug43 = u
ug ° °
U3 =4
Ug1 = U Ut42 = U



Stochastic extended path algorithm

Algorithm 2 Stochastic Extended path algorithm

[y

. H <« Set the horizon of the stochastic perfect foresight (SPF)
models.
(x*,y*) < Compute steady state of the model.
{(wi, )}, < Get weights and nodes for numerical integration
(s0, x1) < Choose an initial condition for the state variables
fort=1to T do

u; < Draw random shocks for the current period

(Vt, Xt+1,5t) < Solve a SPF model with y; i1 = y*
end for
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SEP algorithm (order 1, time t nonlinear problem)
Fori=1,...,m

st = Q(se—1, ut)
0=F (yt, Xty St, Ziw;éa(yti+1, Xt41, St u.,-))
0 = G(yt, xt41, Xt, St)
i1 = Qlse, 1)
0= F(Yzi+1! Xt+1, 5;+1v ‘50()’{+2v X;+2v 5£+11 0))

i i i
0= G(Yyi1) Xpp2)> Xt+15 Spi1)

Strh = QlSt1h—1:0)

0

P i i i
F(Wern Xerh Stans EVtinin Xrnins Stpnr 0))

i i i i
0 = G(Yeyh» Xths1s Xt4h> Stoh)

Sty = Qlstyr—1,0)

0

i i i * i i
F(Yery Xt 4 Ho St+H> ey, Xt4H+12 St+H> 0))

i i i i
0 = G(¥eyHs Xt Hiar Xt Ho StH)



SEP algorithm (order 2, time t nonlinear problem)
For all (i,j) € {1,...,m}?

st = Q(st—1, ut)
0=F (yu Xt St Zl_wié"(y;+1, Xt41, St, AM))
0 = G(yt, Xt41, Xt, St)
$£+1 = Q(st, ;)
0= F(Ypiqs Xe+1, Spp1s Zj“jg(yéﬁz’ Xiy2: Str1r M)

i i i

0 = G(¥eyqs Xep2r Xt+15 Spy1)
i e )
sifa = Qseyar 1))

i

- isj
stin = Qlsih_1,0)
_ LY By Y isj isJ ihj
0 = F(vin i Seim € Weihans Xeinsns Stin 0))

_ IV i i
0= Gy X pyar Xe¥no Stin)

ij o _ i
stin = Qlsiy_1,0)
_ isJ ij ) * ) isJ
0 =Fllus el siin 07 e in 0)

_ i i isj ij
0= Gy iy X han Xeim Seim)



Stochastic extended path (discussion)

» The extended path approach takes full account of the
deterministic nonlinearities of the model.

> It takes into account the nonlinear effects of future shocks
k-period ahead.

> |t neglects the effects of uncertainty in the long run. In most
models this effect declines with the discount factor.

» The Stochastic Perfect Foresight model, that must be solved
at each date, is very large.

» Curse of dimensionality with respect with the number of
innovations and the order of approximation but not with the
number of state variables!



Burnside (1998) model

» A representative household

» A single perishable consumption good produced by a single
'tree’.

» Household can hold equity to transfer consumption from one
period to the next

» Household's intertemporal utility is given by

>oE
=0

» Budget constraint is

e
E T
‘ 0

] with 6 € (—o0,0) U (0, 1]

prers1+ ¢t = (pr + di) e
» Dividends d; are growing at exogenous rate x;
dt =X dt—l

xe = (1= p)X + pxe—1 + €



Dynamics

The price/dividend ratio, y; = Pt/d;, is given by
ye = BE; een (14 yet1)
xe = (1—p)X+ pxe—1 + €

Iterating forward, y; can be written as the current value of future
dividends growth rates:

w .
S BreXia
i=1

S e T i+p'£r+zag1wet+f]

i=1

ye = E¢

=E;

Wlth )?t = Xt — X.



The exact solution

Using formulas for the distribution of the log-normal random
variable, Burnside (1998) shows that the closed form solution is

[e.9]

Ve = Z Biea,'-i-b,')?t

i=1
where

920_2 l_pl 1_p2i
R _T9 (i_o 2
T Ay <I P1=p 7 1—p2)

and



The extended path approach

In the extended path approach, one sets future shocks to their
expected value, E[e;1¢] =0, £ =1,...,00. The corresponding
solution is given by

o

}/}t — Z B/ea,-—i-b,-xt

i=1

where

and



Numerical simulation

Calibration
x = 0.0179
p=—0.139
f=-15
8 =0.95
o = 0.0348

» The deterministic steady state is equal to 12.3035.
» The risky steady state, defined as the fix point in absence of

shock this period:
ZB’ 0%it 52 72 ( ~2 75 ﬂ+p21 p2’)

is equal to 12.4812.



Comparing expended path and closed-form solution

Difference between expended path approximation, y:, and
closed-form solution, y;.
» Using 800 terms to approximate the infinite summation

» Computing over 30000 periods

max (_yt - }/}t) = 0.1820

» The effect of future volatility isn't trivial

Y=Y 0.0144

y

» The effect of future volatility doesn’t depend much on the
state of the economy.



Stochastic extended path

» A k-order stochastic expended path approach computes the
conditional expectation taking into accounts the shocks over
the next k periods.

» The closed formula is

o0

yt — § /BIeai+biXt

i=1
where

0252 . 1—p 21—p?i
_. sa—pz | — 212, TP 122 for

a; = 9XI+ 0252 K 5 p’-*k,p" 2,02(i7k)*P2i f

iy (k=225 + P EE) o

and )
_ 0p (1 —p')

b;
1—p



Quantitative evaluation

» What is the ability of the stochastic extended path approach
to capture the effect of future volatility?

» What part of the difference between the risky steady state and
deterministic steady state is captured by different values of k7

» Deterministic steady state: 12.3035
» Risky steady state: 12.4812
» The contribution of k future periods
k  Percentage

1 7.4%
2 14.3%
9 50.0%
30 90.1%
60 99.0%

> In such a model, it is extremely costly to give full account of
the effects of future volatility with the stochastic extended
path approach.



Hybrid approach, |

» A very large number of periods forward (the order of
stochastic extended path) is necessary to obtain an accurate
figure of the effects of future volatility.

» However, even a local approximation with a Taylor expansion
of low order provides better information on this effect of future
volatility.

» This suggests to combine the two approaches.



Hybrid approach, Il
Fori=1,...,#{nodes}:

St

Q(st—1, ut)

i 1
0=F yt,xt,st,ziw;éz Yt+1+£gam><t+175uu-i

0 = G(yt, Xt+1, Xt, St)

Sep1 = Qlse, 1))

i i i i i
0 = F(yiq:Xt+1 St1s € (Vig2s Xtr25 5t4150))

<)
I

i i i
= G(.yt+1 s Xpp2s Xt+1, 5:+1)

Stoh = Qlstp_1,0)

i i i i i i
0= F(Yz+hv Xtin Stanr € Vighin Xevntas Sevns 0))

o

i i
= G(Yerh Xtphi1> Xesh> Sth)

sten = Qlspyy_1,0)
0 =F (Yo Xt Ho>Starr €O Xy hyas Sty 10 0))

i i i i
0 = G(YeqHs XepHa1r XeqHo St H)



Hybrid approach, Il

We compute the difference between the stochastic expended path
approximation of order 2, the hybrid approach of order 2 and the
closed-form solution, y;. We use 800 terms to approximate the
infinite summation and run simulations over 30000 periods.

Stochastic Hybrid stochastic
extended path  extended path
maximum difference 0.1607 0.0021
minimum difference 0.1513 0.0019




Irreversible investment

Consider the following RBC model with irreversible investment:

o0
max W = E Fu(cetj, le+j)
{Ct+j7lt+jukt+j+1}j:0 i—0
Ji
s.t.
Yt =Ct+ it

Y = Atf(kta /t)
kt+1 - it + (1 - (5)/(1_—
At = A*eat
at = pat—1 + €t
i+ >0



Further specifications

The utility function is

(21— 1)9)"
1—71

U(Ct, It) =

and the production function,

1
ke ) = (ki + (1= a)i)"



First order conditions

uc(ce, le) — pe = BEe [Uc(ct+1, let1) (At+1 fu(kes1, 1) +1— 5) — pea(l — 5)]
ur(ce, It)
Uc(Cn lt)
Ct + keyr = Aef(key ) + (1 — 0) ke

0= Mt (kt+1 - (1 - 5)kt)

= Atf/(kt» lt)

where p; is the Lagrange multiplier associated with the constraint
on investment.



Calibration

B = 0.990
0 = 0.357
T = 2.000
a = 0.450
¥ = —0.500
§ = 0.020
p = 0.995

A* = 1.000
o = 0.100



Simulation

» Order: 0,1, 2 and 3
> Integration nodes: 3 (Gaussian quadrature)

» Number of periods for auxiliary simulations (SPF): 200



The trajectory of investment
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The trajectory of investment
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Conclusion and future work

» The extended path approach takes into account effects of
nonlinearities.

» The stochastic extended path approach takes also partially
into account nonlinear effects of future volatility.

» Possible to use an hybrid approach, using the risky steady
state as terminal condition.
» The approach suffers from the curse of dimensionality but it
can be mitigated by
» using monomial formulas for integration when there are several
shocks
» exploiting embarassingly parallel nature of the algorithm



